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Instructions:
(i) Read all questions carefully and answer accordingly.
(ii) Question paper consists of 3 parts.
(iii) Scientific and non-programmable calculator are permitted.
(iv) Do not write any information on the question paper other than Roll Number.

PART A

ANSWER ALL THE QUESTIONS (5 X 2 = 10M)

1. In a common base connection, α = 0.95. The voltage drop across 2 kΩ resistance
which is connected in the collector is 2V. Find the base current.

2. List the characteristics of zener diod.

3. In a common base connection, current amplification factor is 0.9. If the emitter current is 1mA,
determine the value of base current.

4. Discuss the VI characterises of Diode

5. What is biasing? What are the different biasing circuits used for operating BJT as amplifiers?

PART B

ANSWER ALL THE QUESTIONS (2 X 10 = 20M)

(CO1) [Comprehension]

6. For the circuit given below, what will be the output if the input signal is a sine wave shown below. (Use
ideal diode model of diode). Draw the output waveform with proper justification.
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(CO2) [Comprehension]

7. The amplifier characteristics constitute high input impedance and low output impedance. Mr. Nagesh
constructed the below circuit and he claimed that it perfectly worked as an amplifier. Is the below circuit
carries the features of an amplifier? If yes then prove it by finding its input and output impedance.

PART C

ANSWER THE FOLLOWING QUESTION (1 X 20 = 20M)

(CO2) [Application]

8. A transistor is connected in common emitter (CE) configuration in which collector supply is 8 V and the
voltage drop across resistance RC connected in the collector circuit is 0.5 V. The value of RC = 800 Ω.
If α = 0.96, determine : (i) collector-emitter voltage (ii) base current.




